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ص�א�����ن�:�**)(  

� ������� آ����� ا����زات ،       -1���� ������ آ���� ا��!اد ا�,�+)� و ا�()#� ، '&%�� �$�#� ا�"!اء آ���أث#�/   �$�#� ا���ء .

: '��$>;�  Mg آ���� :�ز آ�)�3 ا��!�&� ، �$#� 49 �8 ا�7�6&4 ا�%�5.&&4 3أن
29

M
=d

g
.    

 ?@$� :ρair = 1.29 g/L
  

 ت$�ف أن ا���زات �8 ا�"!اء ه%�ك .%"� .4 �($� ن�! ا9G)? 9%� ت�آ�3 ح��ا ��8 ا�"�!اء و ه%��ك .�B�%� 4ل ن��!               -2
 ���Uل  dg > 1زات '��%,#� �)"!اء ، ��ذا آ�ن/ اGسRS '�تJ�Q اGرض ، �&(9 8� 4N�L أن ذ�L �$��� 9)? آ���� هJK ا���

 ���Uل 4�9 ا����ز أن�3 أ49dg < 1       4�. W�X ا���ز أن3 أثRU .4 ا�"!اء و �8 هJK ا����� �%Bل ن�! اGسRS ، '&%�� إذا آ�ن 
 ?(9Gن�! ا �$)� ا����� JKء و �8 ه��ا�.  

  : Y ?(9!ء .� ;)%�J س�'�U أآ�R ا��Qول ا����8 -أ
  

H2O2CO2  Cl2  ا���ز

          ا��N)� ا��!�&�
 ����Nا� :dg          

ا�!Y$&� ا��Kآ!رة 
  �%Bل/ �($� 
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 إث#�ت أن -1
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 .4 ا�"!اء و آ>ه�� .�Uس&4 �8 ا�7�6&4 ا�%�5.&&4 أ���N� 4!ن ا��22.4L    ]�Qا���ز و  .V = 22.4 L 4و إذا أKXن� 
  : �N!ن VM = 22.4 l/molا��!�8 .,�وي �ـ  

V = 1 L (gaz)  →  m(gaz) = Mgaz 
V = 1L (air)  → m(air) = ρair . 22.4  ≈ 29 g 
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  : إآ��ل ا��Qول -2
  

H2 O2 CO2  Cl2  ا���ز

  71  44  32  2  ا��N)� ا��!�&�
 ����Nا� :dg  0.069  1.10  1.51  2.45  

ا�!Y$&� ا��Kآ!رة 
  �%Bل/ �($� 

  �%Bل  �%Bل  �%Bل  �($�

  
  
  


